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Air flow regulation :
Adjust the air volume by rotating
the valve disc in plus or minus
direction.
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- =
F} A (mm). See Selection Table.

:L,:!l-ej SN 9:!

?

el (307 D) sab SuSliwlg sl 5539z S5y azs yayd iy S
.\.l.ul.) [ Jg.x.i'm Jf..g.) (SLQ &J dlel Ul.iol (SJ.ualo ﬁu.ulg.;ﬂb 9)gu0)d

:J)Jla.lu as

Nigid (50 AR pj Uylew 35 L SU ciSpb (Ugw 355 (sl aza s

Qg 258 dmnd
a3 shad
RAL 9016 Juiw K5)

(RUgw) Sy=io — 35 gl azy)s @L\



Listed Size
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P
Neox size| Posten AIR FLOW RATE
{mm) CFM 10 20 40 60 BO 100 120 140
Disk M*/Sec_ | 0.0047 | 0.0094 | 0.0189 | 0.0283 | 0.0378 | 0.0472 | 0.0567 | 0.0661
PinmmH2o | 076 1.83 5.6
A= +10
NCin db <20 22 38
PinmmHo | 122 3.4 9.6
@e0 A=
0 NCin db <20 26 44
PinmmH2o | 2.04 5.6 =20
A=-10
MNCin db <20 35 =45
PinmmH2o | 051 1.12 3.496 6.6
A=
+10 NCin db <20 <20 30 £1:3
PinmmH2o | 071 2.04 6.11 11.21
a0 A=l NCin db <20 20 36 44
A=-10 PinmmH2o | 143 4.08 12.23 =20
NCin db <20 31 a5 >45
PlinmmH2o | 041 1.12 3.06 561 9.2
A=+10
MNCin db <20 <20 26 33 a2
PinmmH2o | 082 1.83 5.61 9.4 14.78
@125 A=
0 NCin db <20 <20 33 a0 =45
A=-10 PinmmH2o | 1.22 3.06 B.B7 16.3 =20
MNCin db =20 26 42 =45 =45
A= +10 PinmmH2o | <0.4 0.61 1.83 4.3 5.7 9.2 12.7
NCin db <20 <20 20 25 31 37 a0
PinmmH2o | <0.4 1.22 3.78 B.2 1.2 18.3
160 A=0
L NCin db <20 <20 25 35 41 45
A=-10 P inmm Hio 1 2.75 8.2 16.3 »20 =20
: NCin db <20 30 a1 =45 =45 =45
A=+10 PlinmmH2o | <0.4 =0.4 0.82 163 3.1 4.1 5.1 7.9
NCin db <20 <20 <20 <20 22 25 33 37
5200 PinmmH2o | <0.4 0.71 1.83 4.1 561 9.1 10.7 18.3
= NCin db <20 <20 <20 24 30 36 a0 a5
A=-10 PlinmmH2o | <0.4 1.22 4.3 1.6 10.7 18.3 =M =20
: NCin db <20 | <20 26 35 39 as -45 | =45

. P = Total Pressure Loss across the disc valve in mm of H2o.
. NCbased on a room attention of 10 db.
. A = +108&-10 = Position of the disc 10 mm down of normal position , at normal position

, and 10 mm above normal position.

. One mm of H2o = 9.8 pascal (N/M?) =0.0394 inch of H2o
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